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Timeline of Pandemic Health Risk
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COVID-19 Pandemic

Spanish Flu Pandemic Hong Kong Pandemic H1N1 Pandemic ~ 6 Million Deaths on
~ 50 Million Deaths ~ 1 Million Deaths ~ 284000 Deaths 23 March 2022
1918 1957 1968 2002 2009 2012 2019
Asian Flu Pandemic SARS Epidemic MERS Epidemic
~ 1 Million Deaths ~ 774 Deaths ~ 858 Deaths
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(Hui, 2006)
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2t
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AA=2 (Velamoor and Persad, 2020)

Li2tE 48= 2010l &

ot 20| 5 22, Ol=

AT

Li2tE=

52 0J2! (Hale at al., 2020)
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Sources: Hale et al. (2020) and authors’ calculations.

* Stringency index: 212 T|4H, ZHEH, LI2t
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canfirmed
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7Holo] ie: DpAT R ALS|H H2IS7|, £407|

- A5 A2l ZvHo|2 ZAK(testing), ei8tR Al(tracing), Z2|(quarantine), 2L (lockdown), X|
2 (treatment)
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- Salanie and Treich (2020)
- A1 of| gt =24 (self-protection) & 2
U(+)2t S(-)9 FEENE 2F I
- Smeters (2020)

- He|o| &7t H|2ECt 324
O, Tt7|ZH0] O] Z O|=F A

re

7FOD=|O|

rol

- Acemoglu et al. (2020)

- LtO| 1 Z(young/middle/old)of| k2t 2}

O|HIELMIES HLE T+ US

- Favero et al. (2020)

o| B4

- ZzHo A 5 0HGDP loss)@t Y EL
SHE HIELZ AIYES 2 T US

2

_

dEetEs 9S00 Tet Al H2|=7 |2 =

HAt(mass testing), 2| =

]
xetdR0= t7t 2 Ael=

=
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MAT: 7910|124

- Ehrlich and Becher (1972)

- 2712 S (self-insurance) 2t A | E 912 M2 CHA|ZHAIE 7HA|LE, O|/E4 == (self-protection) 2t A&

=

B3 Bl (complements)& 712 4= Q2

- Muermann and Kunreuther (2008)
-0 0| V1R | = K(+)Q| IE =22 Qlsl 71012 =30 A ERSHA| E

- Hoffmann and Rothschild (201 9)
-0 L HE H(+)2] EENE VHAIEE | I HAH2 U UAE 7 o~ US
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. 280|IM 22 (full coverage)0] 20U QI3 2L U2 9IS 0|1, Tty
_$_

- Effort (test) ==0| F0{2l A, B2 test (effort)2| efficacyE =L £+ US

- HE0| TSl A2 2| test L effort =22 HE §-20|| 2 £ 7|H|Q] ACHH0l &
off w2t Eekd

80| = A test?} effort= Edgeworth-Pareto substitute(CHX|2A|)E 7}X|Lt, E&o]| ¢
= A20|l= CHAl/22r2A |7t 25 7158

H:

- 7|1& Zdg=E(baseline contagion rate), ZH=&(infection probability), 7% &42| 37| S
parameterZ} Bigt | H30| Y= AL test L effort7 SISt L EE R HES A|A|Eh
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Timeline of the Model

Insurance system:
public or market

Premimum (Q) paid Indemnity (I) paid

T=0 T=1/2 1=l

Initial mfection (f)

s Test (t) => Treated (D)

—>No test (1-t) => Development => Treated (D,)

l

Contagion (r) => Treated (D))
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Model Description

- Notation
- f* Infection rate

- r: contagion rate

- Dl < D2
Proportion of pobcvholders of Public Probatbility T=1/2, T=1, Health
Insurance with loss
Infected? Infected?
Infected at T = 1/2 & successful test ft Yoz No D,
Infected at T =1/2 & failed test fil =ty Yes Yes D,
Not mfected at T =1/2, mfected at (1 — firf(l — 1) No Yes D,
T=1
NotmfectedatT=12&T=1 (1 — il — rfil =t No Mo D, =10

Kiizdd=2



Model Description

- Notation
- C(t): cost of test, C'(t) >0,C"(t) >0

-1 = 191, (e) Where 1, is baseline contagion rate and 7, (e) is contagion rate affected by effort e,
r(e) <0,7,/(e) >0

- c(e): cost of effort, ¢'(e) >0, c"(e) >0

- W: initial wealth

- U(+): utility function which is twice differentiable, increasing and concave in wealth

- test H|E2 55| 20| §l= 32 He22 RaE + U2, E30| /= FRol= (4 220
Itz 0[R|A| b 2) HHRof| Zolk|= 2122 J1det

- ZH12] o ot F RO test YU 2 HHE I HAR0 FFS 0]
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- test H| 22 M3 TE F2}E

- 444 D2 p1 8| B E 2, D= p,2 BHEE U
o= ft+ (=) () fa -0

“p2=f(1-1)

- HB=lA %S =B po=1-p1—p2

-ZlRle] =8 Stiist =24l
max EUy = poUW —T — c(e)) + piUW —T — c(e) — D;)
+p,UW —T — c(e) — D)
st.T=C()

\J

-Uy=UW =T —c(e))
-U;=UW —T —c(e) —D,)
-U,=UW —T —c(e) — D,)
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Optimal Outcome without Insurance

- [Proposition 1] 14| Z710]| wj2} 2| A efforte} test £= (e, 0)= C}2 1} ZHo| AA=

(PoUp + p1U1 + pUx)C'(t°) = fIU; — Uy + (1 = Hr(Up — Uy)]
(PoUp + p1U1 + p2U3)ce(e%) = —(1 = ) f (1 — O1ronye' () (U — Uy)

213 (0, 1) BAHI ST SIAER0| ZOLAIE £Z0l|A Melg

2 < 0 : of|2| 9 =-I}| £ (Edgeworth-Pareto) EFQI2| CHAZHA|

of HEHH(e) /7t S7IE M THE B (0)0]] THEt oA =80] ZHaghs 2[0]

[ DRy Bl o-1o

- [Lemma 1] Tt R710| S TI5HH testlt effort= Of| | =-I}2{| £ (Edgeworth-Pareto) EF2
CHA|2HA1F 71
—A=HfA - Orery(e)(=Ug + UDC' () + (1 — f)frorp(e)(Up — Uy)
< —=(poUp + p1UT + p2Uz)c.(e)C' ()
- Teste| S7t= effortd]| gt SHAIZE S AL ZaA|7|= A2 o
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- SE910| Z2ff5t= ARE 7151, BEdda= 7|0 2gat test H[ 22| gtez A
. H|CHE 21 ol Ao JtHE
-lQle| =8 et &A:
max EU; = poUW —Q —c(e)) + p1UW —Q —c(e) — Dy + 1)
+pUW —Q —c(e) — D, + 1)
st.Q=E)+C(t)

where E(I) = pily + p2lo, p1 = ft+ (1= f) (Torp(e)) f(—1),andp, = f(1-1)

-Us=U(W —Q —c(e))
-Ut=UW —-Q —c(e) —D; + 1)

-UL=UW —Q —c(e) =D, + L)
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Le = pocUs — poUS Q¢ + p1cUL — p1UL Q¢ + 0ot US — UL Q. = 0,

Ly, = —poUs p1 + p1Uf (1 —py) —poUs py =0,

Ly, = —poU§ by — p1Uf pa + p2US (1 —py) =0,
Le={-(1-Hf(1- ) ToTpe(€) — cs(e)} ('pOU(‘; + p UE + p, UL ) =0,

orp(e)

/ dc(e) /
o = Tpe (€), and —. = Ce ().

opj . 0Q
where —= = pj,j =0,1,2,— = Q,
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Optimal Outcome with Insurance

- [Proposition 2]
(1) HZ &2 MR AHHE: I, = Dy fork = 1,2.
(2) 2|1A test t*2} effort e*, R8I 2 Q= C}22} 2H0] ZAHE!:
C'(t") = f(D2 — Dy) + f(1 — f)rDy,
ce(€) = —(1 = Hf(1 — O)Dyrorpe(e),

Q" =flt' +(A-Hr(A-t)]Ds + f(A - t")D; + C(F").

- [Lemma 2] test2} effort= Of|A| Y E-0}2{| € (Edgeworth-Pareto) EFI2| CHA|ZHAIE 713

- H310| 9= AR T2 teste] 7= efforto]| LS SHAIE -2 QAL ZHAA|Z

HA L ©
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230| YUt AL

- Test (effort)7} given?! 2, E3 S-20|| [}2 effort (test) AEH H| .
- [Lemma 3]

(1) Given effort, test with insurance is higher than that without insurance when

flU1 —U;+ (A= flr(Uy — Uq)]
poUy + p1U; + p2U,

f(D; — D) + f(1— fHrD, >

(2) Given test, effort with insurance is higher than that without insurance when

S Up— U,
poUy + p1U; + poU,

D4

20j| 24| 210] effort MEHS SUSFIA| 2 7HHZHS [, Lemma 3 (1)S DIESIH B3
Q= AL test?] efficiency?| O =OFR| 1 2tA B 30| Q= A E L} testE 52

- ORRIZIA| 2 test S SUSH 2 71Y S W, Lemma 3 (2)E US5HH 20| U= B2
effort?] efficiency} G =02| 2 2t HEO| gle A2 EC} effortS 52
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Optimal outcome?| H|u

- HH o= E2e Us F 422 2|H (e, )2t (e, t7) ZHH|R
t

(]
- Case A: 529101 A2 C{H] 20| Q= A teste} efforte] efficiency?t S7fet = e Tort T
- Lele:eo,tzto > 0, Ltle:eo,tzto >0

- Case B: RE QI A CH| HHO| Y= H= test?] efficiencys A5t efforte| 2 S7t
- Case C: 22301 AL CljH] E30| Y=

A2
- Case D: 2E3i0| AL CjjH| E8l0| Q=

F

gol

test?} effortQ| efficiencyZ} Zt4Ast

(@)
o
< test9] efficiency= S7F5t1 efforte| A< 244Gt

o T
4
4 Z
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Optimal Outcome?]| H|

- [Proposition 3]

3
(2) =l 3
W ES

A.Case A2| AR, e2tt'E &

B. Case B 2| AL, e* > €%0|1 ¢t* < tO

C.Case C2| A%, e2l t'= FEHQ FA0| 2[HANELC ZAM 2 5+ SIS

D. Case D 2| A2, e* < €°0|22 t* > t°¢
- AEEO 2 QI5H 47 &4 SI™0| 23| AR|E| 22 AH|R} 2/40] S7tet
- Orok H310| test 2| efficiency & Z7HZA)A|7| 1, effort 2| efficiency & ZUA(Z7DAI7|H, B
o] =UE| w2t test = S7HH )5t effort = ZAS7hE

- Bkok B310] test 2} effort 2] efficiency & 25 S7HELA)AI7|H, 20| = Eof| w2} test 2F

C 72IA(Z7HNst A= ol
effort7fE—|— |:|—l—( 7|')E‘I‘_HM:| ](i%iE%%_‘rl.?‘.__]



Numerical Example

-U(W) = K; — Kyexp(—K3W), where K1, K5, K3 > 0

- test H|&: C(t) = at? fort € [0,1], where a > 0

- effort H|&: c(e) = ce? for e € [0,0), where ¢ > 0

+ contagion rate: r = ryr,(e) € (0,1), where r,(e) = —e with b > 1, and ry € (0, b)

o A= B2 2[H Zih= 22 (e, t0)2t (e, )22 B8
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Numerical Example (Case A)

-ACW >0
‘o9t £ 5 SLHES S 0 IR0 20| 2| AL 2
Inttial Valoe 1|.'-5ai|:1:l::n.lt Inzurance | With Insurance Change

a 3 K, 10 gt 12379 g’ 3.8031 g* — g 2.5632
b 19945 | K, 5 t0 0.7375 £ 0.7562 e 0001
€ 00013 | K, 0.16 Cw? 82744 CW 3.6076 ACW 033532
f 0.7 W 15 L-E‘|3=3." g 0.0283
n 1 D, [ Lfla:a".r:r" 0.1658

D, 12
a 1.75 K, 12 g” 0.5886 ' 335386 gt —g® 275
b 1.90 K, 3 t? 0.4797 t* 0.7917 £t —t? 03512
€ 0.001 K; 03 Cw® 11.8841 CW 119623 ACW 0.0782
f 0.65 W 15 al . 0.0700

a=a =

i 1 D, 4 LrL:aﬂ g 12740

D, &
a 1.31 K, 10 g” 0.0004 ' 144e04 | g* — g% | 000026
b 19543 | K, 5 t® 099093 £* 08990 £t —t? 0.0004
€ 0.01 K; 0.001 cCw? 50294405 CwW 50204413 ACW Se07
f 06336 | W 3 Lyl _ 0,0 2.56e03
i 1 D, 12 Lfla:a" o 0.0011

D':I :_
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Numerical Example (Case B)

-ACW >0

ce*>e? 0|3t <t

Without Insurance

Initial Value With Insurance Change
a 2 K, 10 g” 3.7011 g’ 3.7430 gt —a® 0.0439
b 199 K, 5 t? 05198 t* 03137 £t — ¢t -0.0041
c 0.001 K 0.02 Cwe 32910 CW 52033 ACW 0.0023
f 0.6 W 5 L**Ia:a" o 0.0002
i 1 D, 13 Lfla:a".r:r" 00161
D, 35
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Numerical Example (Case C)

- ACW > 0
et t'= = F S E= F O R0 AR 2| HAntErt 25
Initial Value ‘Mth.ﬂut Inzurance With Insurance Change
a 2 K, 10 g” 0.5913 g’ 26212 g* — g’ 2.0299
b 19943 | K, 5 t? 09974 £ 0.6203 A 03769
c 0.001 K, | 0.1999 Cw?® 22007 W 23118 ACW 01111
f 06336 | W 8 3| 0 g8 00011
=g, [=
"’b 1 D, 1.3 Lfla:a" g -14574
D':I :_
a 1.3 K, 10 g” 0.6607 g’ 0.6606 g* —a” -0.0001
b 155 K, 5 t? 02351 t* 02303 t* — ¢t 0.0046
c 01 K, 0.01 cCw® 6.0356 W 6.0369 ACW 0.0013
f 024 W 23 L, eyt 00008
g=a =
*.r'n. 1 D, 4.6 Lrla—a o N.0138
D. 50
a 1.6 K, 10 g” 0.6569 g’ 0.1446 g* —a” 03125
b 1.9 K, 7 t? 09228 t* 0.0245 £t — ¢t 0.0017
c 0.01 K, 02 Cwe® 6.3146 W 6.5082 ACW 00342
f 02 W 6 Fl 0 gt L0112
a=a",
0 1 D, 1 Lfla:a"r p 00103
D, |46

rie



Numerical Example (Case D)

- ACW >0

ce* < 0|3t > 02

Initial Valoe Without Insurance With Inzurance Change
a 131 K, 10 g” 0.7723 g’ 0.0832 g' — gt 06871
b 19945 | K, 5 t° 0.7919 £* 09729 £t —t" 0.181
c 0.Mm Ky 025 Cw® 3.7400 W 3.8330 ACW 0.118
f | 06336 | W g L, pme® ot -0.0081
""n 1 D, 12 Lfla:a".r:r" 0.4417
D, 49
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Comparative Statics Analysis

- L}2H0|E] ry, f, D1, D, 2| ST} test 2} effortd]] 0|2 = Fok2 AT E
- [Proposition 4] (£&i0]| = E<2)
(1) 1o 2717} testE ST WS E R A:
f(1 = HD1(1 = Ory|ry(e)ry(e) —rp(e)?] + ry(e)ci(e) > 0
ro 5717t effort& S7MAZE BREERZ:
1-0C"(®) — (A — f)fD1ror,(e) >0
(2) 2 3717t testE S7HAZE B2EERU:
(1= )f(1 = O)Dy1o[(Dz — D1y (e) + (1 — 2f)Dyro{r,(e)ry(e) —rp(e)?}]
+{(D2 —D1) + (1 = 2f)rD4}c.(e) > 0
f 8l 3717t effortE S7HA 2 E2E3E2U:
(1-2){(1-6C"®) — (A = )fDirory(e)} — (1 — ))f(D; —D1) > 0
(3) D1 0| S7I5IH test= a5, effort= S71et

(4) D7t Z7tolH test= S7totL, effortes Z4Ast
KiRizgar



- [Proposition 4]2] Z1f=r, 2} f 2| H3}} testS o HH3 e

Direct effect (+)

" sign (d‘f;) = ~Lee [L“‘o Lee Z?]

Indirect effect (-)
~ Ly = f(A = f)D11p(e) >0
“Lery = —f(A-Hf(1-t)D11p(e) > 0
- [Lemma 2]0| 2t £, < O

- Direct effect 7} indirect effect 2Ct S AM|SHH, r, S7H= testE S7HAIE

: d -
- 0|l 7, (e)7s (€) — 7, (e)? > 0 O|H, sign (—t) > 0 2 ok=3}
dTO
dr(e) dryp(e)
- 0| 2L AN 5 rp(e) _ rpe) _ de _ T
= =°l, r{,(e) T'p(e) r{,(e) rp(e)

Q
T

= effort Q| StA| A4 (marginal productivity)2| 27171 effort 2| AiAHEO| SVIECHMESH 1, 7t 27}

EEH effort 2| 2712 E5A|7| 10, W2tM test= 27t
KiRizgd+e



2= A EstH,

72]
p
aQ
=)

|

N——

V
(=)
ne

1-0C"(t) — (A - f)fD rory(e) — f(D; — Dq) + f(D2 — D)
=1-0C"(t) - C'(® + f(D2 — Dy)

O (1 - £)C" () — C'(t) > 0 O|H, sign (=) > 0 & WZ 3t
0

Policy penetration

dc’ (v —
o - 0 t
- O] U= AHiE5tH dt > 1:
t
S

- Policy penetration tested 2+ untested 7t2| H|E 2, 87t HOtLt 2 AIEESS HARIER|E LIEH
-, testZt S7FH0]| W2t €' (t) 7} penetration £C} 2 A S716HH, effort = S71
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Comparative Statics Analysis

- [Proposition 4] (2)

dr{,(e) drp(e)
- SIgn(dt) >0 =2RAfF < 2 and — de  ~, __de
df =) = rp(e) p(e)
e e
dac’ (v

de = . 1 c’'®
-51gn(df)>0°a'%—.bv'_—5.7_-fﬁg and —gr— > 7

- [Proposition 4] (3) SIgn( ) < 0 and sign ( b ) >0

- Effort = p, 2 Z4AA|7|= BHH, test = p, =2 S7HA A
- [2}M D, 9| 27H= test ELH= effort 22| A HIES 0F7|&tH (tl, e 1)

- [Proposition 4] (4) SIgn( ) > 0 and sngn( aD; ) <0
- Effort = p,Ofl @F= O|R|X| = BHH, test = p,= HAAIA
- T2tM D2 S7t= test & S7HAI7| D effort & AAAZ (¢ T, e )

KiRizgar



- S LiF22| OECD =75 Zatolk= 4271 =7}

- M= 7|2k January 2020 - March 2021

- Source: GitHub database, Oxford Stringency Index database, Google Community Mobility Reports

- Fatality

- Quarterly deaths per 100,000 inhabitants

- Stringency Index

- Calculated as quarter means

- Measures the strictness of lockdown style’ policies and takes a value between 0 and 100

- Containment and Health Index (test proxy)

- Government’s policies that extend the Stringency by using additional indicators of health system policies
such as testing policy, the extent of contact tracing, and emergency investments in health care

- Calculated as quarter means and takes a value between 0 and 100

- Mobility (effort proxy)

- Calculated as quarter means of the change in visits relative to the baseline period

- Reproduction Rate

- Calculated as quarter means of the effective reproduction rate of Covid-19
- Shows how many individuals are infected by one infectious individual

- I reproduction rate is less than 1, this implies that effective suppression of epidemic IEIEETEY



Country Fatality Stnngency | Containment Mobality Reproduction

and Health Rate

Austria 20,702 56.448 54420 -20.526 1.291
(26.600) (18.681) (25.004) (8.602) (0.569)

Belgium 40.302 535.864 51.938 -23 788 1313
(36.172) (13.514) (15.828) (8.219) (0.599)

Bulgaria 37.571 46.515 35852 -5.24% 1.134
(46.532) (9.108) (15.959) (4.033) (0.053)

Brazil 30.758 63.036 54 678 -6.030 1.373
(22.196) (18.043) (23.316) (5.249) (0.589)

Canada 123591 60.936 54874 -11.716 1352
(10.532) (18.900) (21.777) (5.147) (0.676)

Chile 24705 68.036 62.127 -28.784 1331
(15.213) (25.993) (29.844) (12.165) (0.580)

China 0.070 68.704 66.978 1.031
(0.102) (5.481) (6.574) (0.097)

Colombia 25.680 69.398 59.782 -10.868 1271
(15.984) (22.025) (25.931) (6.561) (0.411)

Czech 45711 35.446 33141 -12.521 1274
Republic (66.552) (16.217) (22.750) (10.811) (0.429)
Germany 18.713 60.717 54.707 -18.695 1334
(21.040) (16.916) (19.334 (9.571) (0.662)

Denmark 8.351 52.852 46.665 -12 850 1.146
(7.630) (12.372) (19.349) (6.345) (0.252)

Spain 32.250 62.405 52.566 -25.368 1356
(19.152) (14.365) (15.095) (13.555) (0.638)

Estoma 13.646 41.056 36.43545 -8.606 1.157
(21.397) (14.117) (16.82907) (5.097) (0.250)

Finland 3.060 43 591 39416 -11.873 1.146
(2.589) (9.062) (14.296) (5.118) (0.227)

France 28.55% 60.523 54 645 -20.644 1348
(24.705) (13.088) (17.595) (13.668) (0.618)

United 38.132 64.769 57.193 -29 895 1277
Kingdom (34.077) (21.603) (23.712) (13.981) (0.601)
Greece 15.082 62.315 58.930 -14 877 1.151
(19.358) (15.031) (27.331) (19.926) (0.158)

Hungary 42.426 36.544 50245 -10.644 1229
(55.263) (16.794) (20.173) (8.513) (0.297)

Indonesia 3.053 58.689 50.839 -17.036 1234
(2.744) (12.908) (18.824) (8.552) (0.353)

India 2.401 66.847 62.115 -14.02% 1313
(2.415) (17.461) (22.733) (12.800) (0.450)

Ireland 19259 64.478 57.098 -22.764 1.283
(21.980) (24.020) (26.349) (11.562) (0.570)

Iceland 1.644 40.510 45.053 1.046
(2.209) (12.472) (15.596) (0.365)

rie



13.980 63871 59.6412 21.702 1338
(12.951) (14.521) (23.104) (5.025) (0.695)
Tealy 36.194 69319 65181 36,558 1263
(25.717) (10.328) (17.859) (14.073) (0.526)
=+ Tapan 1450 38.382 37.032 10215 1132
e L (1.783) (5.988) (10.083) (5.603) (0.174)
South Korea 0.672 51.675 52.980 6.532 1132
(0.595) (7.810) (12.687) (1.819) (0.228)
Lithuania 25515 50.642 16.146 10251 1165
(33.698) (18.134) (21.927) (5.614) (0.282)
Latvia 19.708 48.739 35.068 5.048 1118
(28.833) (12.409) (17.862) (4.035) (0.189)
Mexico 32207 50487 50.401 37 642 1247
(22.793) (26.593) (24.787) (12.490) (0.382)
Netherlands 19.193 57.551 50.36653 14.800 1287
(14.089) (19.866) | (21.32529) (4.888) (0.554)
Norway 2534 50.205 4236591 10488 1221
(1.846) (13.665) | (19.31997) (1.509) (0.413)
Poland 27.037 55332 48.008 10.076 1313
(35.289) (20.019) (21.821) (6.475) (0.464)
Portugal 32.766 63625 55280 15753 1331
(40.274) (16.287) (22.144) (7.982) (0.718)
Romania 24.184 58.142 19266 10646 1265
(23.238) (15.499) (22.920) (4.661) (0.426)
Russia 13.458 52.544 48304 11.824 1332
(12.339) (17.861) (20.770) (10.815) (0.585)
Slovakia 35.687 53.966 55.320 16205 1139
(60.160) (17.486) (22.534) (7.512) (0.169)
Slovena 11.854 54.987 52.882 12312 1129
(56.500) (14.515) (22.503) (2.735) (0.155)
Sweden 26.468 54.176 38.224 10,927 1305
(21.716) (19.973) (18.607) (3.748) (0.330)
Switzerland 22844 49.035 37.782 16585 1306
(26.327) (11.519) (18.373) (5.869) (0.568)
Turkey 7.662 60.384 56.840 11.384 1571
(6.347) (14.598) (20.824) (7.656) (1.179)
USA 33 806 61.564 56.424 7926 1444
(22.382) (16.171) (21.432) (3.299) (0.929) .
South Africa | 18.292 56.170 57130 19982 1252 kR| HYgd+4
(16.838) (23.406) (26.382) (13.476) (0.476)




- Correlation Matrix

Fatality Contamnment Residual Lagged
and Health Mobility Reproduction
Rate
Fatality 1.0000
Containment 04714% 1.0000
and Health (0.0000)
Residual -0.1278* 0.1456% 1.0000
Mobility (0.0646) (0.0350)
Lagged 0.0084 0.2081% -0.4242% 1.0000
Reproduction (0.9143) (0.0068) (0.0000)
Rate

Notes: * p<0.1

* 2112 of|2 =& 2| proxy= Mobility S AEstH LZ2| T J24 M0l Stringency Index 2= A2-ES 71|22, Mobility
— Jockdown style’@| public policy 2 M| 2| o= effortS O A

- dEZ27| 7|28 EAMEL R4 (reproduction rate) 2| S7t=4H &
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AAFS

THE| 20| WAYSHE! 2 BHAS o AfS] 34 QAI517| 2lsl Rl BH0| BE 5
23t 7152 50, 247te] 7|47k MZOPH DIl 3 E3t SR5PH D2f3ior & 249
FHOIM 2= (full coverage)0] FOIYS 2 QI3 B3 12 I3 25| A3,
nf2pk 348 S7HAIZ

- Effort (test) ==0| F0{2l AL, B2 test (effort)2] efficacyE =& + US

- B30| =AU AR 2|2 test U effort 22 B8 7700 2 F 7|49 HThHQl =&
off ket SEr

- 250 TQUOR A &4 9I3{0] MR EICIT SM BHEA| test S effort O] 2442 0[012)= 22 O
- =Y 50| &= ol SA 0] 7K = S(+)2] 2F=2E Adot= 90ll= 2o Fe
= SAFEEY P|FEE ST EREUAS T US
- HiO|2 22| 2|FE, 2 E L]+ E01I w2} 2|2 testet effort 7} L2tR|0, §35] ZAHIE S 7t
A= EF A2 Z440] /d 32 712 dti==0] w2t et Z2=5 HeEfg A7}
NS
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